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QUESTION 1

A vSphere Standard Switch is configured with two uplinks. When adjusting the failover order of the uplinks, what are two
valid states in which an administrator can place the uplinks? (Choose two.)

A. Active
B. Unused
C. Passive
D. Disabled

Correct Answer: AB

QUESTION 2

A vSphere administrator has configured a virtual machine alarm to trigger a warning when the condition
Snapshot Size exceeds 1GB.

Which action should the administrator configure on the alarm to automatically resolve the condition?

A. Delete Snapshot

B. Reset VM

C. Run a Command

D. Consolidate Snapshot

Correct Answer: C

QUESTION 3

An administrator has configured Single Sign-On for a vCloud Director cell named Cell01. Which URL should the
administrator use to bypass SSO when logging into the cell?

A. http://cell01/cloud/login.php
B. http://cell01/cloud/login.jsp
C. http://cell01/cloud/login.html
D. http://cell01/cloud/admin.htm

Correct Answer: B

QUESTION 4
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The bandwidth between two sites is too slow to transfer large virtual machine files. The administrator
needs to export a virtual machine to OVF to reduce the size of the transfer. When the administrator
attempts to initiate the Export OVF Template feature, the selection is grayed out.

What is the likely reason that the administrator is unable to select this option?

A. The virtual machine is in a powered on state.

B. There is not enough disk space on the destination for the OVF.

C. The administrator\\'s account does not have the correct privileges.

D. The virtual machine is not compatible with the OVF format.

Correct Answer: A

QUESTION 5

An administrator adds a newly installed host running the most current version of ESXi to an existing
resource cluster. Virtual machines do not deploy to the newly added host.

What is a probable cause of this issue?

A. The host was not prepared for vCloud integration.

B. The host does not support the virtual machine hardware version.

C. The cluster containing the host is disabled.

D. The host has insufficient resources.

Correct Answer: A
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